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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following as
directed : 1x10=10

oo A o[ R I webR e Tew
o

(a) What is aggregate demand?
STafa sk & 2

(b) Express effective demand in a four-
sector system.

IR o1y mmfo® ey v owpt w4 |
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(2)

() What is open economy?

T& SgAfe 2

(dj Mundell-Fleming model assumes that
capital is

e -Gl RS Toeas o2 79 A
(i) perfectly mobile
jeface] DeT {2o1d
(i) perfectly immobile
el SveTae 2o
(iiij imperfectly mobile
SET|efCel eI {201

(Choose the correct option)

(= s Afz Sferean)

(e) What is the shape of long-run Phillips
curve?

Reene Rrfereig (4R SFhe @l ?

() The aggregate supply function at full
employment is

opef TocaTel SRETS ST oM FewCol 2

(i) more elastic

Tffe Rfowree
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(3)

(ii) less elastic
<1 fefewrere
(iii) pérfectly inelastic
FjfaCe] SRR
(Choose the correct option)

(wa Rescor Afx Sferean)

(99 Who developed the purchasing power
parity theory?
I TIOR ITO] ©GLHl (T Tare Fafee ?

(h) Define asset market.

T GRS e |

() What is Capital Account in Balance of
Payment (BoP)?

(T S eiq 211 % 2
() At the point of effective demand
e i R
(i) aggregate demand = aggregate
supply

SHER vIfRw = A @eiE

() aggregate demand > aggregate
supply
SR vfEa > A @i
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(4)

(ifi) aggregate demand < aggregate
supply
ST{RE BT < STE® el
(iv) Both (i) and (iii)
(i) == (i) T=q
(Choose the correct option)

(om Reach! AR Tfersan)

(k) Supply inflation is caused by
ST J@PRINeT IR 2
(i) wage push
TG 261
(i) mark-up pricing
-1 T
(iii) profit push
F[eq (261
(iv) All of the above
@[T SHIREN

(Choose the correct option)

(wm Raco! fR Sferean)
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(S)

() The natural rate of hypothesis involves

ST B S SE® I
(i) adaptive expectation

SfSIere eromT
(i) rational expectation

AfET 2R
(iii) Both (i) and (ii)

(i) S (i) ToF

(Choose the correct option)

(v Res! Ak Sferea)

(m) Write one measure to control cost-push
inflation.

TRt JUrHIfe Faad FRacE 9o S o |

(n) Mention the I-S components of
Mundell-Fleming model.

Tewel-Grs SN2 Se-REAESR  ToAmecan

ey 41

(o) Define arbitrage in international
payment.
REes MR S ke i |

(p) What is international financial market?
weeiies el q@is 2
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(6)

(@ Write one criticism of effective demand.

&FT BIfRA BT Ao o |

() The concept of foreign trade multiplier
was developed by

PR e @IFT YR Tare FifRe

() R. F. Khan
YN, 9%F. 4
(i) J. M. Keynes
©. 9G¥, (PR
(i) Samuelson
CRYCeTRA
(Choose the correct option)

(m Reseh AR Sferean)

2. Answer any five from the following : 2x5=10
ST MR *[ R e #Aiob Teq i

(a) What is Eurocurrency market?
2TEN @R I§[ 2
(b) Define natural rate of unemployment.
e egfee 2 siket fi |
() What is meant by mark-up inflation?
TF-w1el JEEeCT 1 e 2
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(7)

(d) Write the reasons for inverse
relationship between inflation and
unemployment.

meﬁwﬁﬂ%—w@a
FR for |

(e) Mention two assumptions of Mundell-
Fleming model.

e -@rlis wfES o1 SfSHRe Seas o |

(f) Define effective demand.

ey vIfwE ke e |

(g9 What are the determinants of
equilibrium rate of interest?

ST T 7RS e 6 &2

(h) In what way expectation influences the
rate of exchange?

goIiR 6 490 3[R TS eI T ?

() Mention two limitations of adaptive
expectation.

SfSIfEe e 15! Siael T 1 |

() What is foreign trade multiplier?

Wt AfIeE 8o 2
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(8)

3. Answer any four from the following : 5x4=20
weTo fRAIERT “[1 R Flea oo Teq il -

(a) Explain briefly the monetary approach
to Balance of Payments (BoP).

@I TR (BoP) Wi yEesai R
BYCF I AT

(b)) Write a note on Dornbusch’s
overshooting model.

TR WSRpRR SRGE eUFe @bl (O
foran |

(c) Distinguish between spot and forward
exchange rate.

=5 E TR [ T Ime 1L
YA |

(d) Briefly explain the components of
international financial market.

e e @R CSAMFPER BRI 1M
|

() How does natural rate hypothesis
explain the unemployment-inflation
relationship?

JgleT TRE SR REA S q@ried
SERECH! (AP Ao ¢, 14T |
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(9)

What are the prerequisites of Keynesian
q
theory?

R oG G e o2

(g9 What is aggregate supply? How does
aggregate supply curve determine in
Keynesian economics?

SHES @6 7 @EFpe wdhifee e
Q@ @41 el fefiee s = 2

(h) Explain the concept of demand-pull
inflation.

IS JEERIeT IREICET 00 41 |

4. Answer any four from the following : 10x4=40
©eTS AT 7|1 7 (e vt Teq fia -

(a) What is rate of exchange? Explain the
determination of equilibrium rate of

exchange. 2+8=10
[ 21 52 srRemw Rfw 29 R fAdf
9, IR A1

(b) Explain critically the rational
expectation hypothesis.

QS AN ST TG FZFIC
RIS
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(10 )

(c) Explain the asset market approach to
determine exchange rate.

R 2@ fdRy e R ITRT giEea
sl

(d) Establish the relationship between
foreign trade multiplier and marginal
propensity to import.
wolie AR @R W At SrEw
2RI e F#[FCH! R 31 |

(e) Discuss the Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed exchange rate with perfect
capital mobility.

T Seple gege e R R =@e
TeT-Grited (s oI oEsrs e fech
RISIESSIN

(f) Discuss the determination of
equilibrium level of employment
through effective demand.

sy SRR REAce S e SRl [l
e 1 =, SACE=l 40 |

(99 Examine the police effectiveness of
Phillips curve.

fferer @I s IR R 51 |
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(11)

(h) Explain the purchasing power parity

G)

A23—4500/179

theory of exchange rate.

R 298 T FoR el SGCo! I <41

Explain the determinants of aggregate
demand.

STafels vk TR A < |

Explain the factors that cause
fluctuation in the exchange rates.

0
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